TEEMR
(EEHI XM N

ﬂ
INERTH BB A HE
#ER 1/6,000] 180m |




M ] s=1:500

AN V=2,870m3. BRE A=11,500m2. {&xABRIE A=11, 500m2
REGERRRE - i =1 (ERRS)

fi T
[EhRIVYY-t  A=25m2

5843325

A A D (2000+1000)
MO —

HTHE

B FA Ty ZAM

CEERES [ MalAY e |
OREHIHY . FHMTRHMAENREED-O. TRICHEEEETY
SEFHREICLY . BEZHNEFLLUHBERE. BENS X, RALEOHRET S

X1 BAILRISOWNT. FH25emd LEKEEEE (V=11,500m2 x 0. 25=2, 870m3)

%2 fEEILRSIZONT. H4EREREL (FRELYL) 28

%3 REBERIEBERRETD

¥4 REBEBROUBERUVHE (EH) OFEZAIE. BOVI7—LENY IR THRREENTELLSEIHLTLD
%5 HARROVSEE. BERETHD

Mt T X

ERa>y)— FEBEAR $=1:100 B>y U—bEER $=1:20

av9Y-+ (18N. W/C60% LLTF) t=100

Ky s RSk \x B
2000%1000 RC40 t=100

[084008000448080000000 0004

5.000

_— =
5,000

#a/NEmE [FREIA1)

IEFE

SH6EE

I%%

BRIIKR
LERIXMMARIHRETS

IHER

MR LA EMA

H@E4

FEE. HHIE

R

B HEES 1/2

1EfE R /NER T




FEEBE R s-1:25

+2.00

v (GE&) #E 1550

No.t
No.2
No.d.
No.§
No.6
N

433258 | vmern on vasza w2
VEEGLE 1575 VEEGLE 1575
ﬁ n BRI

v (5tEE) i 15,50 YUL 1670

v (E&] BE 1550

000

No 4

THiE43385 4 j =
vEBES 1820
vEEQLE 1575

v (G EE] HE 1550 TLIL 15.70 -

VB 1820

A1) 74 RER $=1:50

BRI B
v18.20
HH.W.LV17. 60
8 —_—
= ~  HWLYILO00
z =
s V16.50 2
2l 8 137 140004800
v15.70 A1 7 4 2450%440 VEEGLE 15.75
8
=
v [SEHE] K5, 50
<
]
- = =l
| | M6 EE
BRIIKSR
AL AL THE FERTERMBEENIHHETE
THER INEBT L A
HE4 B
® R B~ ‘ ﬁ%-‘%‘ 2/2

BER/NEBE




500 10

=

BREER

500 , 500 | 3, 000 500 , 500 |
RC40
el
5, 000
10my L
X4 i Rl it oE o= ME | B
Bt (4.0+5.0) /2%0. 5¥10. 0 22.50 | m3
Wy (4.0+5.0) /240, 5%1.1%10.0 [24.75 | m3
HE | mm (#yL) 3. 0%0. 1%10. 0 3.00 | m3
RC40 3. 0%0. 1%1. 1%10. 0 3.30 | m3
HEH 22.50+3. 00 95.50 | m3
*&f i@%ﬁ#& IEJJ: 25 50 m3
Bas Bt 25.50 | m3
MEHFEBIZODVWTIXEEREET 5,
[2Z K]
IEFE SMe6e &E
BRI KR
T
B A e mTREMEBERLPRETS
I EEH INERTE EEE N
m 4 ks %
1 R 1/50 HES 1/1

I

B W




